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Is each equation a direct vatintion? IF it is, find the constant of variation. R
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@ Finding the Missing Coordinate The points {5.6) and (3, ¥] are two points
un the graph of an inverse variation, Find theMTang vafud:

R AL Use the equation x, + ¥, = X, * ¥, since you know
= coordinates but net the constant of varlation.

56=2y
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The missing value is | ]O . The point (3, r@i‘i)is on the graph of she

inversgwaliation that includes the point {5.6).
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€ Applying Inverse Variation to Physics Jeff weighs 130 pounds and is
51 from the lever's fuleyur. H Tracy weighs Y3 pouruds, how far from the
fulcrum should she sit in orddes to balance the lever?
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Tracy should sit abaut [:_u L from the fulerum Lo balance the lever.
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€ Determining Direct or Inverse Variation Decide whether each data set
represents a direct variation or an inverse viuiation, Then write an equation
tomudel tie data.
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€} Determining Direct or Inverse Variation Decide whether encl data sct
represents a diseel variation or an inverse vatiation, Then write an equation
to model the data.
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1. Euch pair of puints is on the graph of an inverse variation, Find the missing

vafues. x T Y
(A y)and (5,9) h. (7'5.?.5) and U_ 3)032'

5,?:5_0{ 75003 X*2
=HD IS = B

e =%
U=1o X=5

- X=5)

October 01, 2012

2. u. Physkcs A 100-1b weight is placed 4 fl Frons a fulerum. How far from the
fulerwm shoukd a 75-1b weight be placedt to bulancs e lever il weight and
disiance vary inversely?
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Ir. An 80-1b weight is placed 9 {t from a fulcrum. What weight should you put
6 ft {rom the [ulerum to balanee the lever?
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3. Deternzine whether the data i each lable 1epiresent a ditect variation or an
inverse variation, Write an equation to modet the data in each table.
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3. Petermine whethet (he data in ench table represent a direct variation or an
inverse variation. Write an equation to model the data in each table.
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4. Explain whether each situation tepreseits 4 ditect varialion or an inverse vacation.
u. You are a discount store. All sweaters are
f each,
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